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1. [

main ( ) {
short i;
i=-4,
printf("\ni:dec=%d, oct=%o0, hex=%x, unsigned=%u\n", i, i, i, i );

¥

2. [z

main ( ) A
int d=-2;
printf(" * d(1)=%d * d(2)=%3d * d(3)=%-3d * \n", d, d, d);



printf(" * d(4)=%o0 * d(5)=%70 * d(6)=%-70 *\n", d, d, d);
b

3. [iEiE]

main ( ) A
int x=1,y=2;
printf("x=%d y=%d *sum#*=%d\n",x,y,x+y);
printf("10 Squared is:%d\n",10*10);

b
4. [IFiE]
main ( ) A

float a=123.456; double b=8765.4567;
printf("(1) %f\n",a);

printf("(2 ) %14.3f\n",a);

printf("(3 ) %6.4f\n",a);

printf("(4 ) %If\n",b);

printf("(5) %14.3If\n",b);

printf("(6 ) %8.4If\n",b);

printf("(7 ) %.4f\n",b);
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W/ERRRF , NBEELBMAZNMIDAATE a. b, o, RENWIEHE, FROTREIAMEE: average of, ** and &
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2. [FERigit]

131 HE =1.609 0B , ihIKE5BRZEMEEKLYZ 238857 HE |, BHRE C12F , ERELEREIIKXER &
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3. [FEFRigit]
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